


#_'57H°+I17(f9 22| MSHAH 22 HAE EE.':.'—I f OIQP H=0] ohSl0|C| 2 2E Zo|E=H|of
Ct

D\I
H
(_)'E
oy

HHUASS 8510, ofof| chsh Tl &0l



HE 227357 Xl o
H| M S 22/517 XI9 Ths
O|AF| EHAH 7Hs

=75 22 25 s

Zt7{Lt I7+ 3712 H|0|EfAllof] &5t



e

o MY SVMER
» 2K O 257
» SIE/AZE ORI ER

o HIMHSVMER
n M SVM +Chet &4

= SVC+7{4 E&l

e SVM 3|



e SVMO|E
s AYete o5, At
= 2%} A2H(QP, quadratic programming)
n ACH EX|
= {4 SVM
= 22[2l SVM



51 8% SVM &7/



il d

e Z}X|OFFI



1H

2| Ofzl

e 2fX| OFE:

H=
—TTr

A

2

EIE AILSH] 2

atx| o}

Aole| Jt 2w, =

Zelas

F

CHe

=
T

il d



o OfH|:

[
H [UE 5|40
u o |IH m_”_ ~
- 1= Ko | @
oy |o
fuj LH oll
o
=
K
T
<O
P
T
g H| | E | oo | ol
-7 - u:% H__.._ x.___o o
g Mw | (S
B |10
ol ol
ol
: . : o
SEIE
nE | <Nz
rn IH ofl

Iris versicolor
Iris setosa




MNEZE HIE]

o SE0| QT Z0f 2IR|SHs ME (o2 J-ollM Sa2ta| EAIE)
o MIZE HIE| AlO|Q| 7tA = Z 20| Z0| Z|C)7} £ =2 &S

|

o E4 AH2S ZFSIH ZFEA 7N Z0HE.

. EMS0|Ti9Z US| 2.

AAUEX| LS AAU=

75 A

X150+

25 1




o Z|CH7} =|ofoF &t



£0| =2 HZE0| SHt = 275 =5 sh=0t

H

A

5

&2

[0



2 4]

RIK

=L =H2 AFx
StE Ol 252} O] AHX]
2.0 ~o
- ~ -~
O|AR| '-. “~-\‘~~s\ '-.
1.5 W Lt 1 SIS .
SS >
1.01 %7%| " am 1 =<3 '“.'
. - ~*~ >~
‘si“s‘~
0.5 1 4 ST I~
O|AbK| NN
o
0.0 , , . . . . . : :
0 1 3 4 5 0 1 2 3 4 5
22! Zo| 2 Zo|

oIE Jaym

o
0%
2

Bt 22200 4 Ef S0 of

on
In
a
rA
AL
4

27t5  7hsshR| g Letst of

r




=
—

f

°

tHz S =X

K

S M E XESIHAM E29| Z2

t(margin violation) Al2|2]

e Dzl 9l

|

(@)
Hin
=0
T
d

T
oF
Rl HL

LIHE

o <
°



| SVM 2%7| Linearsvc &

* Iris-Virginica & 0{& mHt

svim clfl = LinearSVC(C=1, loss="hinge", random state=42)
LinearSvC(C=100, loss="hinge", random state=42)
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polynomial svm clf = Pipeline([
("poly features", PolynomialFeatures(degree=3)),
("scaler", StandardScaler()),

("svm clf", LinearSVC(C=10, loss="hinge", random state=42))
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from sklearn.svm import SVC

poly kernel svm clf = Pipeline([
("scaler", StandardScaler()),
("svm clf", SVC(kernel="poly", degree=d, coef0=c0, C=C))
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rbf kernel svm clf = Pipeline([
("scaler", StandardScaler()),
("svm clf", SvVC(kernel="rbf", gamma=ga, C=C))
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# LinearSVR ZefA X|&
from sklearn.svm import LinearSVR

svm_reg = LinearSVR(epsilon=e)
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# SVR + Cfgt HY
from sklearn.svm import SVR

svm_poly reg = SVR(kernel="poly", degree=d, C=C, epsilon=e, gamma="scale")
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